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)XWUL� 5DKD\X� � $QDOLVLV� 3HQJHQGDOLDQ� ,QWHUQ� 3HUVHGLDDQ� %DUDQJ� 'DJDQJ��

SDGD�7RUD�3RXOWU\�6KRS

3HPELPELQJ ���6DOPD�7DTZD��6(��0�VL

3HQHOLWLDQ� LQL� EHUWXMXDQ XQWXN� PHQJDQDOLVLV� EDJDLPDQD� 3HQJHQGDOLDQ�
,QWHUQDO� 3HUVHGLDDQ� %DUDQJ� 'DJDQJ� SDGD� 7RUD� 3RXOWU\� 6KRS� GDQ�
PHPEDQGLQJNDQQ\D� GHQJDQ� WHRUL�0XO\DGL� HGLVL� NH� �� VHUWD� DSDNDK� SHQJHQGDOLDQ�
WHUVHEXW�VXGDK�GLWHUDSNDQ�VHFDUD�HIHNWLI�ROHK�7RUD�3RXOWU\�6KRS�

%HQWXN�SHQHOLWLDQ�WXJDV�DNKLU�LQL�DGDODK�EHQWXN�REVHUYDVL��2EVHUYDVL�DWDX�
SHQJDPDWDQ� WHUKDGDS�REMHN�SHQHOLWLDQ� GLODNXNDQ�XQWXN�PHQJHWDKXL� GHQJDQ� MHODV�
EDJDLPDQD� 3HQJHQGDOLDQ� ,QWHUQDO� 3HUVHGLDDQ�%DUDQJ�'DJDQJ� SDGD� 7RUD� 3RXOWU\�
6KRS�� 3HQXOLV� PHQJXPSXONDQ� GDWD GDQ� LQIRUPDVL ODQJVXQJ� GDUL� SHUXVDKDDQ�
PHODOXL�ZDZDQFDUD XQWXN�GLRODK��VHKLQJJD�GLSHUROHK�KDVLO�

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� GLSHUROHK� NHVLPSXODQ� EDKZD� VLVWHP�
SHQJHQGDOLDQ� LQWHUQDO� SHUVHGLDDQ� EDUDQJ� GDJDQJ� SDGD�7RUD� 3RXOWU\� 6KRS� EHOXP�
VHVXDL�GHQJDQ�VWDQGDU�DNXQWDQVL�EHUGDVDUNDQ�WHRUL�0XO\DGL�HGLVL�NH���GDQ�EHOXP�
VHSHQXKQ\D� EHUMDODQ� VHFDUD� HIHNWLI�� +DO� LQL� GDSDW� GLOLKDW� GDUL� XQVXU�XQVXU� GDVDU�
GDQ�SULQVLS SHQJHQGDOLDQ�LQWHUQDO�\DQJ�EHOXP�OHQJNDS�


